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PHYSICS
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NUCLEAR PHYSICS

Textbook Evaluation Choose The Correct Answer

1. Man-made redioactivity is also known as



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_mn7gnenI6HXi

A. Induced radioactivity

B. Spontaneous radioactivity

C. Artificial radioactivity

D.a&b

Answer: D

° Watch Video Solution

2. Unit of radioactive is

A.roentgen


https://dl.doubtnut.com/l/_mn7gnenI6HXi
https://dl.doubtnut.com/l/_BSRtA32W8x41

B. curie

C. becquerel

D. all of above

Answer: D

o Watch Video Solution

3. Artificial radioactivity was discovered by

A. Becquerel


https://dl.doubtnut.com/l/_BSRtA32W8x41
https://dl.doubtnut.com/l/_RU8k4ZPH3XxL

B. Irene Curie

C. Roentgen

D. Neils Bohr

Answer: B

o Watch Video Solution

4. In which of the following , no change in mass
number of the daughter nuclie takes place ?
(i) a decay (ii) B decay

(iii) v decay (iv) neutron decay


https://dl.doubtnut.com/l/_RU8k4ZPH3XxL
https://dl.doubtnut.com/l/_p0LAPKYq9pzS

A. (i) is correct

B. (ii) and (iii) are correct

C. (i) and (iv) are correct

D. (ii) and (iv) are correct

Answer: B

° Watch Video Solution

5. isotope is used for the treatment

of cancer.


https://dl.doubtnut.com/l/_p0LAPKYq9pzS
https://dl.doubtnut.com/l/_t2xjek5pMtWF

A. Radio lodine

B. Radio Cobalt

C. Radio Carbon

D. Radio Nickel

Answer: B

° Watch Video Solution

6. Gamma radiations are dangerous because



https://dl.doubtnut.com/l/_t2xjek5pMtWF
https://dl.doubtnut.com/l/_QeyuDxkR9Fte

A. it affects eyes & bones

B. it effects tissues

C. it produces genetic disorder

D. it produces enormous amount of heat

Answer: C

° Watch Video Solution

7. aprons are used to protect us

from gamma radiations


https://dl.doubtnut.com/l/_QeyuDxkR9Fte
https://dl.doubtnut.com/l/_iv0EaryRfWAx

A. Lead oxide

B. Iron

C. Lead

D. Aluminium

Answer: C

° Watch Video Solution

8. Which of the following statements is/are
correct ?

(i) particles are photons


https://dl.doubtnut.com/l/_iv0EaryRfWAx
https://dl.doubtnut.com/l/_pHY1YxiKJpkd

(i) Penetrating power of y radiation is very low
(iii) ionization power is maximum for a rays

(iv) Penetrating power of ~ radiation is very

high

A. ()&(ii) are correct

B. (ii)&(iii) are correct

C. (iv) only correct

D. (iii) & (iv) are correct

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_pHY1YxiKJpkd

9. proton-Proton chain reaction is an example

of

A. Nuclear fission

B. a-decay

C. Nuclear fussion

D. S-decay

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_MVTI8HYV4Y5Y
https://dl.doubtnut.com/l/_kWzFK8kVLZLB

adecay

10. In the nuclear reaction 6X12 — ZYA the

valueof Aand Z is

A. 8,6

B. 8,4

C.4,8

D.cannot be determined with the given

data

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_kWzFK8kVLZLB
https://dl.doubtnut.com/l/_a4n2N57snvOp

11. Reactor Kamini is situated at

A. Kalpakkam

B. Koodankulam

C. Mumbai

D. Rajasthan

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_a4n2N57snvOp

12. Which of the following is/are correct ?

(i) Chain reaction takes place in a nuclear
reactor and an atomic bomb.

(ii) The chain reaction in a nuclear reactor is
controlled.

(iii) The chain reaction in a nuclear reactor is
not controlled.

(iv) No chain reaction takes place in an atom

bomb.

A. (i) only correct

B. (i)&(ii) are correct


https://dl.doubtnut.com/l/_TnIECaa0WQyY

C. (iv) only correct

D. (iii) & (iv) are correct

Answer: B

° Watch Video Solution

Textbook Evaluation Fill In The Blanks

1. One roentgen is equal to

disintegrations per second.

° Watch Video Solution



https://dl.doubtnut.com/l/_TnIECaa0WQyY
https://dl.doubtnut.com/l/_aqiiiKe7Xk3v

2. Positron is an

0 Watch Video Solution

3. Anemia can be cured by

isotope.

° Watch Video Solution

4. Abbreviation of ICRP

° Watch Video Solution



https://dl.doubtnut.com/l/_aqiiiKe7Xk3v
https://dl.doubtnut.com/l/_K0uG7AHseW9k
https://dl.doubtnut.com/l/_BVWRc85gXc7s
https://dl.doubtnut.com/l/_pDPKeCnOYfsT

5. is used to measure exposure rate

of radiation in humans.

° Watch Video Solution

6. has the greatest penetration

power.

° Watch Video Solution



https://dl.doubtnut.com/l/_pDPKeCnOYfsT
https://dl.doubtnut.com/l/_jqpEvWZyJcrk
https://dl.doubtnut.com/l/_00zwMljy6sXm

7. zYA—>z+1YA—|—X, Then , X is

° Watch Video Solution

8. ZXA — zYA This reaction is possible in

decay.

° Watch Video Solution



https://dl.doubtnut.com/l/_Pz1eEPrlomrB
https://dl.doubtnut.com/l/_cYVbhuPCAy6x

9. The average energy released in each fusion

reaction is about J.

o Watch Video Solution

10. Nuclear fusion is possible only at an
extremely high temperature of the order of

K.

o Watch Video Solution



https://dl.doubtnut.com/l/_sLcMqoI8eOef
https://dl.doubtnut.com/l/_UgbjGSJUXKis

11. The radio isotope of helps to

increase the productivity of crops.

° Watch Video Solution

12. If the radiation exposure is 100R, it may

cause

° Watch Video Solution

Textbook Evaluation State Whether The Following

Statements Are True Or False If False Correct The



https://dl.doubtnut.com/l/_asOsFfe0scUJ
https://dl.doubtnut.com/l/_cukTvF7HQsSB

Statement

1. Plutonium -239 is a fissionable material. : True

or False

° Watch Video Solution

2. Elements having atomic number greater
than 83 can undergo nuclear fusion. : True or

False

° Watch Video Solution



https://dl.doubtnut.com/l/_GcHHrpUNAibS
https://dl.doubtnut.com/l/_6ShBszwwNKMO
https://dl.doubtnut.com/l/_eg3VOIoY840G

3. Nuclear fusion is more dangerous than

nuclear fission. : True or False

o Watch Video Solution

4. Natural uranium U-238 is the core fuel used

in a nuclear reactor. : True or False

o Watch Video Solution



https://dl.doubtnut.com/l/_eg3VOIoY840G
https://dl.doubtnut.com/l/_BYhAamcJgQhT

5.1f a moderator is not present, then a nuclear
reactor will behave as an atom bomb. : True or

False

o Watch Video Solution

6. During one nuclear fission on an average , 2
to 3 neutrons are produced. State whether true

or false.

o Watch Video Solution



https://dl.doubtnut.com/l/_5P037VLHk8Oi
https://dl.doubtnut.com/l/_y7IpRL4bs6d1
https://dl.doubtnut.com/l/_RAmEAYzwgvdi

7. Einstein's theory of mass energy equivalence
is used in nuclear fission and fusion. State

whether true or false.

° Watch Video Solution

Textbook Evaluation Match The Following

1.

° View Text Solution



https://dl.doubtnut.com/l/_RAmEAYzwgvdi
https://dl.doubtnut.com/l/_xTRVbIpJWP6a

2.[#

° View Text Solution

3.ls

o View Text Solution

4.,

° View Text Solution



https://dl.doubtnut.com/l/_QaeyThDnxFrI
https://dl.doubtnut.com/l/_WdgmMmagU8wR
https://dl.doubtnut.com/l/_IpbEmDdCEOj9
https://dl.doubtnut.com/l/_oUaYXbDcrKpj

5.0

° View Text Solution

Textbook Evaluation Arrange The Following In The

Correct Sequence

1. Arrange in descending order, on the basis of
their penetration power

Alpha rays, beta rays, gamma rays, cosmic rays

° Watch Video Solution



https://dl.doubtnut.com/l/_oUaYXbDcrKpj
https://dl.doubtnut.com/l/_k8dX191WSEWN

2. Arrange the following in the chronological
order of discovery
Nuclear  reactor, radioacitivity, artificial

radioactivity, discovery of radium.

° Watch Video Solution

Textbook Evaluation Use The Analogy To Fill In

The Blanks

1. Spontaneous process: Natural Radioactivity

:: Induced process:



https://dl.doubtnut.com/l/_rS1w8ZxQR4ct
https://dl.doubtnut.com/l/_M6ezk8OR86oH

° Watch Video Solution

2. Nuclear Fusion : Extreme temperature ::

Nuclear fission:

° Watch Video Solution

3. Increasing crops : Radio phosphorous

Effective functioning of heart :

° Watch Video Solution



https://dl.doubtnut.com/l/_M6ezk8OR86oH
https://dl.doubtnut.com/l/_JEPHK2pXEz6m
https://dl.doubtnut.com/l/_ff7HdisRMSqC
https://dl.doubtnut.com/l/_5Sd63F7NX0Xf

4.If in nature there may not be an element for
which the principal quantum number n > 6,

then the total possible number of elements will

be

A. 100

B. 182

C. 168

D.174

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_5Sd63F7NX0Xf

Textbook Evaluation Numerical Problems

1. ss Ra*?*® experiences three a-decay . Find the

number of neutrons in the daughter element.

° Watch Video Solution

2. A cobalt specimen emits induced radiation of
756 millicurie per second. Convert this

disintegration into becquerel.

(one curie = 3.7 X 1010Bq)


https://dl.doubtnut.com/l/_5Sd63F7NX0Xf
https://dl.doubtnut.com/l/_300VgU0DkMlQ
https://dl.doubtnut.com/l/_dtR6EaUVsRiz

° Watch Video Solution

Textbook Evaluation Assertion And Reason

1. Assertion: A neutron impinging on U,

splits it to produce Barium and Krypton.

Reason: U-235 is a fissile material.

A. If both the assertion and the reason are

true and the reason is the correct

explanation of the assertion.


https://dl.doubtnut.com/l/_dtR6EaUVsRiz
https://dl.doubtnut.com/l/_7vqV1G24uTAA

B. If both the assertion and the reason are

true , but the reason is not the correct

explanation of the assertion.

C. Assertion is true, but Reason is false.

D. Assertion is false, but the reason is true.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_7vqV1G24uTAA

2. Assertion: In a B-decay, the neutron number

decreases by one.

Reason: In B-decay atomic number increases by

one.

A. If both the assertion and the reason are

true and the reason is the correct

explanation of the assertion.

B. If both the assertion and the reason are

true , but the reason is not the correct

explanation of the assertion.


https://dl.doubtnut.com/l/_s4XrnDfwrgwe

C. Assertion is true, but Reason is false.

D. Assertion is false, but the reason is true.

Answer: D

o Watch Video Solution

3. Assertion: Extreme temperature is necessary
to execute nuclear fusion.
Reason: In a nuclear fusion, the nuclei of the

reactants combine releasing high energy.


https://dl.doubtnut.com/l/_s4XrnDfwrgwe
https://dl.doubtnut.com/l/_MFod02reZVRL

A. If both the assertion and the reason are

true and the reason is the correct

explanation of the assertion.

B. If both the assertion and the reason are

true , but the reason is not the correct

explanation of the assertion.

C. Assertion is true, but Reason is false.

D. Assertion is false, but the reason is true.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_MFod02reZVRL

4. Assertion: Control rods are known as

'neutron seeking rods'.

Reason: Control rods are used to perform

substained nuclear fission reaction.

A. If both the assertion and the reason are

true and the reason is the correct

explanation of the assertion.

B. If both the assertion and the reason are

true , but the reason is not the correct


https://dl.doubtnut.com/l/_MFod02reZVRL
https://dl.doubtnut.com/l/_FZFWDmS98GrY

explanation of the assertion.

C. Assertion is true, but Reason is false.

D. Assertion is false, but the reason is true.

Answer: A

° Watch Video Solution

Textbook Evaluation Answer In One Or Two Word

Vsa

1. Who discovered natural radioactivity ?



https://dl.doubtnut.com/l/_FZFWDmS98GrY
https://dl.doubtnut.com/l/_ONc8IPceLffz

‘ o Watch Video Solution

2. In the nth orbit, the energy of an electron

13.6

n2

En = — eV hydrogen atom. The energy

required to take the electron from first orbit to

second orbit will be

A.10.2 eV

B.12.1eV

C.13.6eV

D.34 eV


https://dl.doubtnut.com/l/_ONc8IPceLffz
https://dl.doubtnut.com/l/_5moYeOWZjn8B

Answer: A

o Watch Video Solution

3. Write any two elements which are used for

inducing radioactivity ?

° Watch Video Solution

4. Write the name of the electromagnetic
radiation which is emited during a natural

radioactivity .


https://dl.doubtnut.com/l/_5moYeOWZjn8B
https://dl.doubtnut.com/l/_EsloSavBF4H5
https://dl.doubtnut.com/l/_SoOzg1zUw3pW

° Watch Video Solution

5.If A is a radioactive element which emits an
-particle and produces 19sRf**°. Write the
atomic number and mass number of the

element A.

° Watch Video Solution

6. What is the average energy released from a

single fission process ?

Y. l


https://dl.doubtnut.com/l/_SoOzg1zUw3pW
https://dl.doubtnut.com/l/_ONwFAArWfAWK
https://dl.doubtnut.com/l/_37Uw65D78Q3H

| @ Watch video solution |

7. Which hazardous radiation is the cause for

the genetic disease ?

o Watch Video Solution

8. What is the amount of radiation that may

cause death of a person when exposed to it ?

o Watch Video Solution



https://dl.doubtnut.com/l/_37Uw65D78Q3H
https://dl.doubtnut.com/l/_1sSGRiMcEbzd
https://dl.doubtnut.com/l/_yOvNpdDXiupw

9. When and where was the first nuclear

reactor built ?

° Watch Video Solution

10. Give the Sl unit of radioactivity .

° Watch Video Solution

11. Which material protects us from radiation ?

° Watch Video Solution



https://dl.doubtnut.com/l/_V4BMcN0r9VuZ
https://dl.doubtnut.com/l/_B6Uqm2rSASFa
https://dl.doubtnut.com/l/_vkFroLkKyOtK

Textbook Evaluation Answer The Following

Questions In Few Sentences

1. Write any three features of natural and

artificial radioactivity.

° Watch Video Solution

2. Define critical mass.

° Watch Video Solution



https://dl.doubtnut.com/l/_vkFroLkKyOtK
https://dl.doubtnut.com/l/_MRwcZMm67jCj
https://dl.doubtnut.com/l/_uyhFBMDw6QHt

3. Define one roentgen.

o Watch Video Solution

4.The size of an atom is of the order of

A.10 % m

B.10 " 10m

C.1072m

D.10 ¥ m

Answer: B


https://dl.doubtnut.com/l/_cbPOGyLtwJRz
https://dl.doubtnut.com/l/_dGxKEhqfSJyR

° Watch Video Solution

5. Give the function of control rods in a nuclear

reactor.

° Watch Video Solution

6. In Japan, some of the new born children are

having congenital diseases . Why ?

° Watch Video Solution



https://dl.doubtnut.com/l/_dGxKEhqfSJyR
https://dl.doubtnut.com/l/_JjOe3PEee1Wy
https://dl.doubtnut.com/l/_7v2WXf2F7IDe
https://dl.doubtnut.com/l/_lGRs6cikwEin

7. Mr. Ramu is working as an X-ray technician in
a hospital . But, he does not wear the lead
aprons. What suggestion will you give to Mr.

Ramu ?

o Watch Video Solution

8. What is stellar energy ?

o Watch Video Solution



https://dl.doubtnut.com/l/_lGRs6cikwEin
https://dl.doubtnut.com/l/_A0jikRV8MVgN

9. Give any two uses of radio isotopes in the

field of agriculture ?

° Watch Video Solution

Textbook Evaluation Answer The Following

Questions In Detail

1. In the following atoms and moleculates for
the transition from n= 2 to n = 1, the spectral

line of minimum wavelength will be produced

by


https://dl.doubtnut.com/l/_J6XL8xhIqDFg
https://dl.doubtnut.com/l/_d8iGh7MfHmp2

A. Hydrogen atom

B. Deuterium atom

C. Uni-ionized helium

D. di-ionized lithium

Answer: D

° Watch Video Solution

2. Compare the properties of alpha, beta, and

gamma radiations.

I o Waksl \tAAA Caliikianm



https://dl.doubtnut.com/l/_d8iGh7MfHmp2
https://dl.doubtnut.com/l/_W78JnQbT9AFi

3. What is a nuclear reactor ? Explain its

essential parts with their functions.

° Watch Video Solution

Textbook Evaluation Hot Questions

1. Mass number of a radioactive element is 232
and its atomic number is 90. When this

element undergoes certain nuclear reactions, it


https://dl.doubtnut.com/l/_W78JnQbT9AFi
https://dl.doubtnut.com/l/_HWI7T1Zd5Aln
https://dl.doubtnut.com/l/_F0gBXFIOoATV

transforms into an isotope of lead with a mass
number 208 and an atomic number 82.
Determine the number of alpha and beta dacay

that can occur.

° Watch Video Solution

2. X- ray should not be taken often'. Give the

reason.

° Watch Video Solution



https://dl.doubtnut.com/l/_F0gBXFIOoATV
https://dl.doubtnut.com/l/_hnfqoNKHIl06

3. Cell phone towers should be placed far away

from the residential area-why ?

° Watch Video Solution

Government Exam Questions Answers

1. In the Bohr's hydrogen atom model, the
radius of the stationary orbit is directly
proportional to

(n = principle quantum number)


https://dl.doubtnut.com/l/_ol8boqbUOGBb
https://dl.doubtnut.com/l/_IasNXST0ZDwZ

Answer: D

° Watch Video Solution

2. The energy required to knock out the
electron in the third orbit of a hydrogen atom

Is equal to


https://dl.doubtnut.com/l/_IasNXST0ZDwZ
https://dl.doubtnut.com/l/_EOFsNR3K79XH

A 13.6 eV

13.6

B. + eV

Answer: B

° Watch Video Solution

Additional Questions Answer Choose The Correct

Answer



https://dl.doubtnut.com/l/_EOFsNR3K79XH

1. An electron has a mass of 9.1 x 10 ! kg . It
revolves round the nucleus in a circular orbit of
radius 0.529 x 10 ' metre at a speed of
2.2 x 10° m/s. The magnitude of its linear
momentum in this motion is

A.1 x 10~ 3* kg-m/s

B.2.0 x 10 %* kg-m/s

C.4.0 x 10~ 2* kg-m/s

D.4.0 x 10 3! kg-m/s

Answer: B


https://dl.doubtnut.com/l/_8IoRrI2L6eVb

O Watch Video Solution

2. The control rod in a nuclear reactor is made

of

A. uranium
B. cadmium
C. graphite

D. plutonium

Answer: B

I ° Waksl \tAAaA Caliikianm



https://dl.doubtnut.com/l/_8IoRrI2L6eVb
https://dl.doubtnut.com/l/_EnZ4SXvgI7ao

3. Atomic nucleus was discovered by

A. Rutherford

B. Newton

C. Einstein

D. Nobel

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_EnZ4SXvgI7ao
https://dl.doubtnut.com/l/_PSNQkmTsvQHP

4. The explosion of the atomic bomb takes

place due to

A. Nuclear fission

B. Newton

C. Scalteling

D. Heating

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_PSNQkmTsvQHP
https://dl.doubtnut.com/l/_mqiIX2JAnB0m
https://dl.doubtnut.com/l/_ddr1ls70MNKq

5. Energy generation in starts is due

A. chemical reaction

B. fission

C. fusion of light nuclei

D. fusion of heavy nuclei

Answer: C

to

o Watch Video Solution



https://dl.doubtnut.com/l/_ddr1ls70MNKq

6. Fusion reaction is initiated with the help of

(i) low temp (ii) high temp

(i) low press (iv) high press

A. (i) is correct

B. (i1) & (iv) are correct

C. (i) and (iv) are correct

D. (ii) and (iv) are correct

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_vqxvqKtv1eSm

7. Fusion reaction takes place at high temp

A. atoms are ionised

B. molecules break up

C. nuclei break up

D. to overcome repulsion between nuclei

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_vqxvqKtv1eSm
https://dl.doubtnut.com/l/_hqXQHHzOmRoB

8. The main source of stellar energy is

(i) fission reactors (ii) fusion reaction

(iii) chemical reaction

(iv) thermonuclear reaction

A. (i) is correct

B. (i)&(ii) are correct

C. (i) and (iv) are correct

D. (ii) and (iv) are correct

Answer: D


https://dl.doubtnut.com/l/_qjjhuc2A7KFG

o Watch Video Solution

9.1n a beryllium atom, if a be the radius of the
first orbit, then the radius of the second orbit

will be in general

A. nag

B. ap

Answer: C


https://dl.doubtnut.com/l/_qjjhuc2A7KFG
https://dl.doubtnut.com/l/_AQzhCDySjFis

O Watch Video Solution

10. Nucleons are made of

A. atoms

B. electrons and protons

C. electrons and neutrons

D. protons and neutrons

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_AQzhCDySjFis
https://dl.doubtnut.com/l/_uxEkvYnklCRp

11. Henry Becquerel discovered

1896.

A. nucleus

B. atom

C. isotopes

D. radioactivity

Answer: D

in

o Watch Video Solution



https://dl.doubtnut.com/l/_Q12WhshJZh3q
https://dl.doubtnut.com/l/_2t40ARkbSSxv

12. Elements having atomic number greater

than are radioactive.

B. 68

C. 88

D. 83

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_2t40ARkbSSxv

13. Positively charged radioactive rays are called

C.vy

D. neutral

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_0qVL8bDqVZSy
https://dl.doubtnut.com/l/_YeQyEZpKmQc4

14. -y rays are in charge.

A. positive

B. negative

C. neutral

D. none

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_YeQyEZpKmQc4

15. a-rays consist of a-particles, which are

nuclei.

A. hydrogen

B. helium

C. heavy water

D. boron

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_yTuAXp9Jac9s
https://dl.doubtnut.com/l/_JV9qdIyaF45M

16. Penetration power is the greatest in

rays.

A. alpha

B. beta

C. gamma

D. helium

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_JV9qdIyaF45M

17. rays contain 1-unit of negative

C. Gamma

D. Hydrogen

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_vzO1BDF5VAFb
https://dl.doubtnut.com/l/_5yvZ4UhkyTBo

18. -rays are nothing but

A. protons

B. neutrons

C. electrons

D. helium

Answer: C

° Watch Video Solution

19. Gamma-rays are in nature.


https://dl.doubtnut.com/l/_5yvZ4UhkyTBo
https://dl.doubtnut.com/l/_ui0EIH4AauRe

A. gravitational

B. electromagnetic

C. weak

D. nuclear

Answer: B

° Watch Video Solution

20.4B€9 + 2H64 — 6012 + 7

A. electron


https://dl.doubtnut.com/l/_ui0EIH4AauRe
https://dl.doubtnut.com/l/_8cZGjS6IdSZt

B. proton

C. neutron

D. hydrogen

Answer: C

o Watch Video Solution

21. Complete the

88RCL226 — 86Rn222 + 7

A. _160

reaction



https://dl.doubtnut.com/l/_8cZGjS6IdSZt
https://dl.doubtnut.com/l/_WpsSAjw4fo9j

Answer: C

o Watch Video Solution

22, Complete the reaction

o0Th?t — g Pa®t 4 7

A. 2H€4


https://dl.doubtnut.com/l/_WpsSAjw4fo9j
https://dl.doubtnut.com/l/_6vrC6P0MmQcM

Answer: B

o Watch Video Solution

23. Gamma rays are extensively used to destroy

affected cells.

A. Sickle-cell anemia


https://dl.doubtnut.com/l/_6vrC6P0MmQcM
https://dl.doubtnut.com/l/_T9JuM52lUId5

B. Cancer

C. HIV

D. Polio virus

Answer: B

o Watch Video Solution

24. Irene Curie and F. Joliot discovered

the year 1934.

A. natural radioactivity


https://dl.doubtnut.com/l/_T9JuM52lUId5
https://dl.doubtnut.com/l/_uhk43LKTifbR

B. fluorescence

C. Artificial radioactivity

D. hydrogen bomb

Answer: C

o Watch Video Solution

25. Which of the following is used to detect the

presence of block in blood vessels ?

A. 15 P31


https://dl.doubtnut.com/l/_uhk43LKTifbR
https://dl.doubtnut.com/l/_F6qxBmHFqfnh

B. 15 P
C. 26F659

D. 11Na24

Answer: D

o Watch Video Solution

26. Radio iostope is used in the

treatment of cancer.

A. sodium


https://dl.doubtnut.com/l/_F6qxBmHFqfnh
https://dl.doubtnut.com/l/_nVXnKrUxw9Py

B. cobalt

C.iron

D. phosphorus

Answer: B

o Watch Video Solution

27. Radio isotope iIs used to treat

problems related to the thyroid gland.

A. sodium


https://dl.doubtnut.com/l/_nVXnKrUxw9Py
https://dl.doubtnut.com/l/_69m1Tb6S0U68

B. cobalt

C.iron

D. iodine

Answer: D

o Watch Video Solution

28. Radio is used to locate brain

tumors.

A.iron


https://dl.doubtnut.com/l/_69m1Tb6S0U68
https://dl.doubtnut.com/l/_rXE4fCbKF7Qb

B. iodine

C. indium

D. cobalt

Answer: B

o Watch Video Solution

29. Radio is used in the treatment of skin

diseases .

A.iron


https://dl.doubtnut.com/l/_rXE4fCbKF7Qb
https://dl.doubtnut.com/l/_4ykMdM3yBwVb

B. phosphorus

C.sodium

D. iodine

Answer: B

o Watch Video Solution

30. Radio-carbon dating can be done with

A. only living things


https://dl.doubtnut.com/l/_4ykMdM3yBwVb
https://dl.doubtnut.com/l/_zMNfp0CTzUFf

B. only non-living thing

C. both (a) and (b)

D. none

Answer: B

o Watch Video Solution

31. Radio-carbon dating is used to

A. treat diseases

B. increase agricultural yield



https://dl.doubtnut.com/l/_zMNfp0CTzUFf
https://dl.doubtnut.com/l/_3TBEGy7zERyD

C. sterilize

D. determine the age of a specimen

Answer: D

o Watch Video Solution

32. In molecular biology, radioiostope are used

in surgical instruments .

A. engraving

B. sterilizing


https://dl.doubtnut.com/l/_3TBEGy7zERyD
https://dl.doubtnut.com/l/_FlnzRxg68qk8

C.sharpening

D. preserving

Answer: B

o Watch Video Solution

33. Roentgen ( R) is the unit to measure

A. X-ray strength

B. number of holes produced by X-rays

C. radiation exposure


https://dl.doubtnut.com/l/_FlnzRxg68qk8
https://dl.doubtnut.com/l/_0HlIFbuzXmxd

D. number of cancer cells.

Answer: C

° Watch Video Solution

34. The ionization potential for second He

electron is

A.13.6 eV

B.27.2 eV

C.544 eV


https://dl.doubtnut.com/l/_0HlIFbuzXmxd
https://dl.doubtnut.com/l/_ufcgOtCXVjsu

D. 100 eV

Answer: C

o Watch Video Solution

35. The ionization potential for Lithium ion is

A. 86.6 eV

B.100.4 eV

C.136.3 eV

D.122.4 eV


https://dl.doubtnut.com/l/_ufcgOtCXVjsu
https://dl.doubtnut.com/l/_MhSjaAtZMq1X

Answer: D

o Watch Video Solution

36. R is the safe limit of radiation

exposure per week .

A. 25 milli

B. 2.5 milli

C. 250 milli

D. 2500 milli


https://dl.doubtnut.com/l/_MhSjaAtZMq1X
https://dl.doubtnut.com/l/_j2JKExQV2sL4

Answer: C

o Watch Video Solution

37. Radioactive materials are kept in thick-

walled containers.

A. aluminium

B. iron

C. brick

D. lead


https://dl.doubtnut.com/l/_j2JKExQV2sL4
https://dl.doubtnut.com/l/_VNQJu79R7AyX

Answer: D

o Watch Video Solution

38. Controlled chain reaction is seen in

A. atom bombs

B. nuclear reactors

C. synchroton

D. detectors

Answer: B



https://dl.doubtnut.com/l/_VNQJu79R7AyX
https://dl.doubtnut.com/l/_NaIV4TQUs97C

\ ° Watch Video Solution

39. In Uncontrolled chain reactions, the number

of fission producing neutron is

A. indefinite

B. finite and a variable

C. a constant

D. variable

Answer: A

I ° Watch Video Solution


https://dl.doubtnut.com/l/_NaIV4TQUs97C
https://dl.doubtnut.com/l/_4id5dukIlZfH

40. The energy required to remove an electron

in a hydrogen atom from n=10 state is

A.13.6 eV

B.1.36 eV

C.0.136 eV

D. 0.0136 eV

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_4id5dukIlZfH
https://dl.doubtnut.com/l/_9wbjPSOBxOx7

41. Chain reaction is possible only when the

loss of neutrons is the neutrons

produced.

A. less than

B. greater than

C.equal to

D. independent of

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_lqF1P2tfOCeT

42. Minimum size of a system in which at least 1
neutron is available for further fission s

called

A. cut-off size

B. critical size

C. range of reactor

D. capability criteria

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_xzsF6VtK3YR9

43. Chain reaction is possible , only if the size of

system is the critical size.

A. less than

B. greater than

C.equal to

D. independent of

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_kxFAMdiofeNZ
https://dl.doubtnut.com/l/_cRJbZbbmYf0O

44, Natural uranium consists of

A.0.72,99.28

B. 99.28, 0.72

C.77.28,72

D.72,77.28

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_cRJbZbbmYf0O

45. 7?38 is fissionable

A. only by fast

B. only by slow

C. both fast and slow

D. by thermal

Answer: A

neutrons.

o Watch Video Solution



https://dl.doubtnut.com/l/_dgwP4DrGCp7R

46. is fissionable by neutrons of all

energies.

D. Np239

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_AUw6mxwR3yVw
https://dl.doubtnut.com/l/_ZkWZTcl4X7s5

47. Atom bomb explosions produce

waves.

A. gravitational

B. sand

C.shock

D. electric

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_ZkWZTcl4X7s5

48. The first nuclear reavtor was built at

A. Newyork

B. San Fransisco

C. New Jersey

D. chicago

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_w9pfofKbNUM0

49, In order to supply neutrons for research

purpose , we use reactors.

A. research

B. power

C. production

D. source

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_nrguAogFLrDd
https://dl.doubtnut.com/l/_0ii5wLTTSl2N

50. For production of radio-isotopes , we use

reactions.

A. research

B. power

C. production

D. absorber

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_0ii5wLTTSl2N

51. A good slows down neutrons by

elastic collisions and it does not remove them

by absorption.

A. fuel

B. moderator

C. coolant

D. control rod

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_MRduYtgjuTpj

52. Commonly used moderators are

and

A. D,O, H,0

B. Dy, H,

C. 02, H2

D. 02, N2

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_elrtgw1yXUK3
https://dl.doubtnut.com/l/_9ydpQe2WiEPT

53. Graphite is used as a in nuclear

reactors.

A. moderator

B. coolant

C. detector

D. fuel

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_9ydpQe2WiEPT

54, are used to control

reaction.

A. control rods

B. Moderators

C. Coolants

D. Neutron source

Answer: A

the chain

o Watch Video Solution



https://dl.doubtnut.com/l/_ZoXTtW0yyhjw
https://dl.doubtnut.com/l/_ShepIUR10SfY

55. The moderator used in nuclear reacton is

A. Cadmium

B. Boron oxide

C. Heavy water

D. Uranium

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_ShepIUR10SfY

56. Which of the following is not a moderactor?

A. liquid sodium

B. ordinary water

C. graphite

D. Heavy water

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_IJBgvxIexsAP

57. The coolant used in fast breeder reactor is

A. ordinary water

B. heavy water

C. liquid sodium

D. boron carbide

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_fjggNWMOSz92
https://dl.doubtnut.com/l/_FnFN9BusvkED

58. In nulcear reactors, convert fast

neutrons into slow neutrons.

A. source

B. control rods

C. moderators

D. sink

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_FnFN9BusvkED

59. In a nuclear reactor, cadmium rods are used

A. speed up neutrons

B. slow down neutrons

C. absorb neutrons

D. remove heat

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_KMxMTqlMnPSY
https://dl.doubtnut.com/l/_ukHmVieat72N

60. Mass of the fissile material at the critical

size is called

A. cut-off mass

B. Einstein's mass value

C. Curie mass

D. Critical mass

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_ukHmVieat72N

61. prevents the leakage of

neutrons be reflecting them back.

A. Mirrors

B. Glass

C. Neutron reflectors

D. Coolant

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_LCmEo9WzruKJ
https://dl.doubtnut.com/l/_Ns2Lold8XMn7

62. BARC(Bhabha Atomic Research Centre) is

situated at

A. Trombay

B. Kalpakkam

C. Trivandrum

D. Thumba

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Ns2Lold8XMn7

63. Reactor Kamini is situated at

A. Trombay

B. Kalpakkam

C. Trivandrum

D. Cochin

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_QaJgxtazwa7h

64. Every series of hydrogen spectrum has an
upper and lower limit in wavelength. The
spectral series which has an upper limit of
wavelength equal to 18752 A is

A. Balmer series

B. Lyman series

C. Paschen series

D. Pfund series

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_lQVOVMGCqVP0

65. An electron has a mass of 9.1 x 103! kg .
It revolves round the nucleus in a circular orbit
of radius 0.867 x 10 ' metre at a speed of
4.8 x 10> m/s. The magnitude of its linear
momentum in this motion is

A.4.368 x 10~ % kg-m/s

B.2.834 x 10 3* kg-m/s

C.4.368 x 10~ 2* kg-m/s

D. 2.834 x 10~ %% kg-m/s


https://dl.doubtnut.com/l/_lQVOVMGCqVP0
https://dl.doubtnut.com/l/_ZT3HzoA1AZIl

Answer: A

° Watch Video Solution

66. Nuclear fusion is possible only at an
extremely high temperature of the order of

K.

A. 107

B. 10"

c.10'

D. 10°


https://dl.doubtnut.com/l/_ZT3HzoA1AZIl
https://dl.doubtnut.com/l/_jiKrJtUqdYxX

Answer: B

o Watch Video Solution

67. The mass of the product nucleus is always

the sum of masses of the lighter nuclei.

A. less than

B. greater than

C.equal to

D. the product of the product nucleus


https://dl.doubtnut.com/l/_jiKrJtUqdYxX
https://dl.doubtnut.com/l/_KQPnAcYc9Zkj

Answer: A

° Watch Video Solution

Additional Questions Answer Fill In The Blanks

1. The ionization potential for carbon atom is

A.788.8 eV

B. 5493 eV

C.375.2 eV

D. 489.6 eV


https://dl.doubtnut.com/l/_KQPnAcYc9Zkj
https://dl.doubtnut.com/l/_C9QskKbVreev

Answer: D

° Watch Video Solution

2. The kinetic energy of the electron in an orbit
of radius r in hydrogen atom is (e = electronic

charge)

62

A —
r2


https://dl.doubtnut.com/l/_C9QskKbVreev
https://dl.doubtnut.com/l/_zzG0kZplFQUV

Answer: B

° Watch Video Solution

3. Nuclear Power is the largest

source of power in India.

° Watch Video Solution

4, Atomic Power Station is India's first

nuclear power station.

I ° Wiaksl \tAAA Caliikiam



https://dl.doubtnut.com/l/_zzG0kZplFQUV
https://dl.doubtnut.com/l/_pD0OjJLoMthy
https://dl.doubtnut.com/l/_ZQD0QJ0EUt6t

5. Total number of power station in India is

° Watch Video Solution

6. Number of reactors operating in

India are

° Watch Video Solution



https://dl.doubtnut.com/l/_ZQD0QJ0EUt6t
https://dl.doubtnut.com/l/_0zoiiTDfAgZk
https://dl.doubtnut.com/l/_dGGHR4ijJhHI

7. Name the nuclear power stations are

established in India.

o Watch Video Solution

8.lonization potential of hydrogen atom is 13.6
eV. Hydrogen atoms in the ground state are
excited by monochromatic radiation of photon
energy 121 eV. The spectral lines emitted by
hydrogen atoms according to Bohr's theory will

be


https://dl.doubtnut.com/l/_EX5vXXZqqgFk
https://dl.doubtnut.com/l/_jy6P8TFHhmFo

A. One

B. Two

C.Three

D. Four

Answer: C

° Watch Video Solution

9. Radioactive elements radium and Polonium

were discovered by

I ° WMaksl \tAAaA Caliikianm



https://dl.doubtnut.com/l/_jy6P8TFHhmFo
https://dl.doubtnut.com/l/_LagclX6EFMDp

10. The angular momentum of electron in nth

orbit is given by

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_LagclX6EFMDp
https://dl.doubtnut.com/l/_6HmGq7aJjfrJ

11. The ratio of the energies of the hydrogen

atom in its first to second excited state is

A. /4

B.4/9

C.9/4

D.4

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_6HmGq7aJjfrJ
https://dl.doubtnut.com/l/_mdoS3GChrKXY
https://dl.doubtnut.com/l/_4xvTDMBmi5Sr

12. The Rydberg's constant R for hydrogen is

AR— 1 . 272 me?
41e ch?
1 2 4
B R — . 2m“me
47'('60 ch?
2
1 2 4
CR— 2m°me
47'('80 c2h?
1 2 2. 4
DR — . 2m“me
471'60 ch3
Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_4xvTDMBmi5Sr

13. In Rutherford scattering experiment, what

will be the correct angle for a-scattering for an

impact parameter, b=0 ?

A.90°

B.270°

C.0°

D. 180°

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_P1NkLp3o31m1

14. What is the radius of iodine atom (At. no.

53, mass no. 126)

A 2.5 x 10 Um

B.2.5 X 10 'm

C.7x 10 m

D.7 x 10 %m

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_aqxm5XlyfmVx
https://dl.doubtnut.com/l/_QqQ8Y0YnO40K

15. The total energy of an electron in an atom

in an orbit is -3.4 eV. Its kinetic and potential

energies respectively are :

A.-34 eV,-34 eV

B.-34 eV, -6.8 eV

C.34 eV,-68 eV

D.34 eV,34 eV

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_QqQ8Y0YnO40K
https://dl.doubtnut.com/l/_94ZdhFiGZNra

16. The radius of the first emitted Bohr orbit,
for the electron, in a hydrogen atom equals
0.51 A and its ground state energy equals -13.6
eV. If the electron in the hydrogen atom is
replaced by muon (,u_) [charge same as
electron and mass 207 m,], the first Bohr

radius and ground state energy will be
A.2.46 x 10" Bm, — 13.6keV
B.0.53 x 10~ m, — 3.6keV

C.24.6 x 10" Bm, — 2.8keV

D.2.46 x 10~ ®m, — 2.8keV


https://dl.doubtnut.com/l/_94ZdhFiGZNra

Answer: D

° Watch Video Solution

17. The ratio of kinetic energy to the total

energy of an electron in a Bohr orbit of the

hydrogen atom is

A 1:1

B. 1:-1

C.1:-2

D. 2:-1


https://dl.doubtnut.com/l/_94ZdhFiGZNra
https://dl.doubtnut.com/l/_rdEKCMHLgiPS

Answer: B

° Watch Video Solution

18. The ratio of wavelengths of the last line of

Balmer series and the last line of Lyman series

IS :-

Al

B.4

C.05

D. 2


https://dl.doubtnut.com/l/_rdEKCMHLgiPS
https://dl.doubtnut.com/l/_z1bgizgrH8zc

Answer: B

o Watch Video Solution

19. Given the value of Rydberg constant is 10°
m_l, the wave number of the last line of the
Balmer series in hydrogen spectrum will be:

A.0.025 x 10* m !

B.0.5 x 10" m ™"

C.0.25 x 10" m !

D.2.5 x 10" m !


https://dl.doubtnut.com/l/_z1bgizgrH8zc
https://dl.doubtnut.com/l/_MCNnaOapzP6S

Answer: C

o Watch Video Solution

20. When an is emitted, a new

atomic nuclei is formed whose atomic number
decreases by two and only energy level

changes.

° Watch Video Solution



https://dl.doubtnut.com/l/_MCNnaOapzP6S
https://dl.doubtnut.com/l/_zuz9bob0IyoC

21. Two particles of masses mq, my move with
initial velocities u; and us. On collision, one of
the particles gets excited to higher level, after
absorbing energy €. If final velocities of

particles be v; and vy, then v must have

A.
1 2 T 1 2 __ 1 2 4 1 2
2m1u1 2m2u2 = 2m1v1 2m2v2 &
B.
1 1 1 1
—myu? + —maul — & = =MV + —mav;

2 2 2 2


https://dl.doubtnut.com/l/_Q4sAg2uqL6Mh

1 1 1 1
Em%u% + Emgug — € = Em%v% + Em%v%

D. m%ul + m%ug — €& = m%vl + m%vg

Answer: B

o Watch Video Solution

22. When a radioactive nucleus disintegrates by

emitting a atomic  number

increases by one and mass number remains the

same.



https://dl.doubtnut.com/l/_Q4sAg2uqL6Mh
https://dl.doubtnut.com/l/_ekZtWd2nkwaE

I ° Watch Video Solution

23. Hydrogen atom in ground state is excited
by a monochromatic radiation of A\ = 975A.
Number of spectral lines in the resulting
spectrum emitted will be

A.3

B.2

C.6

D.10


https://dl.doubtnut.com/l/_ekZtWd2nkwaE
https://dl.doubtnut.com/l/_5X28rAvmdxg3

Answer: C

o Watch Video Solution

24. | Becequerel= disintegrations

per second.

° Watch Video Solution

25. Consider 3rd orbit of He+ (Helium), using
non- relativistic approach, the speed of

electron in this orbit will be [given


https://dl.doubtnut.com/l/_5X28rAvmdxg3
https://dl.doubtnut.com/l/_5xPlCP9wiPJ6
https://dl.doubtnut.com/l/_6kTFgop3K4id

K = 9 x 10° constant, Z = 2 and h (Planck's
Constant)=6.6 x 10 3*Js]

A.1.46 x 10°m /s

B.0.46 x 10°m /s

C.3.0 x 10°m /s

D.2.92 x 10°m /s

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_6kTFgop3K4id

26. Curie is defined as the quantity of

radioactive substance which gives

disintegrations per second.

o Watch Video Solution

27. The activity of one gram of radium is equal

o Watch Video Solution



https://dl.doubtnut.com/l/_39aN3pb6Ntjx
https://dl.doubtnut.com/l/_FmtJF7K2hhrK

28. Artificial radioactivity was discovered by

o Watch Video Solution

29. In the spectrum of hydrogen, the ratio of
the longest wavelength in the Lyman series to

the longest wavelength in the Balmer series is

w >
N N ]| ©
\1|Cﬂ C"|\1 |

N


https://dl.doubtnut.com/l/_XmcURdwdCjO9
https://dl.doubtnut.com/l/_xksJX1AwCQEw

Answer: C

° Watch Video Solution

30. Electron in hydrogen atom first jumps from
third excited state to second excited state and
then from second excited to the first excited
state. The ratio of the wavelengths A;: ),

emitted in the two cases is

Al
"5


https://dl.doubtnut.com/l/_xksJX1AwCQEw
https://dl.doubtnut.com/l/_WKqglaRtwePr

Answer: D

o Watch Video Solution

31. In the hydrogen spectrum, the ratio of the
longest wavelength in the Balmer series to the

longest wavelength in the Paschen series is


https://dl.doubtnut.com/l/_WKqglaRtwePr
https://dl.doubtnut.com/l/_IlIqLLY5dzMT

Answer: B

° Watch Video Solution

32. In the spectrum of hydrogen, the ratio of
the longest wavelength in the Lyman series to

the longest wavelength in the Paschen series is


https://dl.doubtnut.com/l/_IlIqLLY5dzMT
https://dl.doubtnut.com/l/_JKn31RaDmAX2

109
7

T
108

T
109

108
7

Answer: B

° Watch Video Solution

33. The radioactive isotope used to diagnose

anaemia is

I ° WAlaksl \tAAA Caliikianm



https://dl.doubtnut.com/l/_JKn31RaDmAX2
https://dl.doubtnut.com/l/_KT1IT649vFIs

34. An electron of a stationary hydrogen atom
passes from the fifth energy level to the
ground level. The velocity that the atom

acquired as a result of photon emission will be

A 24hR | 25m
B.25h R / 24m
C.25m /24hR

D.24m /25h R


https://dl.doubtnut.com/l/_KT1IT649vFIs
https://dl.doubtnut.com/l/_dNnWaGPjHtyI

Answer: A

o Watch Video Solution

35. The transition from the state n=3 to n=11in a

hydrogen like atom results in ultraviolet

radiation. Infrared radiation will be obtained in

the transition from:

A2—1

B.3 — 2

C.4 — 2


https://dl.doubtnut.com/l/_dNnWaGPjHtyI
https://dl.doubtnut.com/l/_gi0UwUnfr8ql

D.4 — 3

Answer: D

O Watch Video Solution

36. The radioactive isotope used in estimating

the age of specimens is

° Watch Video Solution



https://dl.doubtnut.com/l/_gi0UwUnfr8ql
https://dl.doubtnut.com/l/_4ao4XLcd24Fu

37. The wavelength of the first line of Lyman
series for hydrogen atom is equal to that of
the second line of Balmer series for a hydrogen
like ion. The atomic number Z of hydrogen like
lon is

A.3

B.4

C.1

D. 2

Answer: D


https://dl.doubtnut.com/l/_6aSMOyPc9OgT

° Watch Video Solution

38. An electron in the hydrogen atom jumps
from excited state n to the ground state. The
wavelength so emitted illuminates a
photosensitive material having work function
2.75 eV. If the stopping potential of the

photoelectron is 10 V, the value of n is

A.3

B.4

C.5


https://dl.doubtnut.com/l/_6aSMOyPc9OgT
https://dl.doubtnut.com/l/_gKUByNXOz91W

D. 2

Answer: B

o Watch Video Solution

39. Out of the following which one is not a
possible energy for a photon to be emitted by

hydrogen atom according to Bohr's atomic

model?

A. 19 eV

B.11.1 eV


https://dl.doubtnut.com/l/_gKUByNXOz91W
https://dl.doubtnut.com/l/_d74n5qqBN1m3

C.13.6eV

D. 0.65 eV

Answer: B

o Watch Video Solution

40. The energy of a hydrogen atom in the
ground state is -13.6 eV. The energy of a He "

ion in the first excited state will be

A.-13.6 eV


https://dl.doubtnut.com/l/_d74n5qqBN1m3
https://dl.doubtnut.com/l/_C6kDqg0Pj80o

B.-27.2 eV

C.-544 eV

D.-6.8 eV

Answer: A

° Watch Video Solution

41.The ionization energy of the electron in the
hydrogen atom in its ground state is 13.6 eV.
The atoms are excited to higher energy levels

to emit radiations of 6 wavelengths. Maximum


https://dl.doubtnut.com/l/_C6kDqg0Pj80o
https://dl.doubtnut.com/l/_ubj663NOCwYO

wavelength of emitted radiation corresponds

to the transition between

A. n=3 to n=1 states

B.n=2 to n=1 states

C.n=4 to n= 3 states

D. n=3 to n= 2 states

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_ubj663NOCwYO

42. The process in which of one element is

converted into nucleus of another element is

o Watch Video Solution

43. The ground state energy of hydrogen atom

is -13.6eV. When its electron is in the first

excited state, its excitation energy is

A .34 eV

B.6.8 eV


https://dl.doubtnut.com/l/_EjopAqItilNO
https://dl.doubtnut.com/l/_45TX3pXmOXhN

C.10.2 eV

D.O

Answer: C

o Watch Video Solution

44, The total energy of an electron in the first
excited state of hydrogen atom is about -3.4

eV. Its kinetic energy in this state is

A.34 eV


https://dl.doubtnut.com/l/_45TX3pXmOXhN
https://dl.doubtnut.com/l/_6mFl3sT8bFYn

B.6.8 eV

C.-34 eV

D.-6.8 eV

Answer: A

o Watch Video Solution

45. The total energy of an electron in the first
excited state of hydrogen atom is about -3.4 eV.

Its potential energy in this state is


https://dl.doubtnut.com/l/_6mFl3sT8bFYn
https://dl.doubtnut.com/l/_mNXtCSIWhgI4

A .34 eV

B.6.8 eV

C.-34 eV

D.-6.8 eV

Answer: D

° Watch Video Solution

46. Percentage of U?*® in natural uranium is

I ° Wiaksla \tAAA Caliikianm



https://dl.doubtnut.com/l/_mNXtCSIWhgI4
https://dl.doubtnut.com/l/_Ux3U9eVLUHxt

o Watch Video Solution

48.Energy E of a hydrogen atom with principal

quantum  number n is  given by

13.6
E, = — > eV. The energy of photon
n

ejected when the electron jumps from n=3

state to n=2 state of hydrogen is approximately


https://dl.doubtnut.com/l/_Ux3U9eVLUHxt
https://dl.doubtnut.com/l/_m4TgTXKkeWDA
https://dl.doubtnut.com/l/_hH1YIBCfv9tc

A. 1.9eV

B. 1.5eV

C.0.85eV

D.34 eV

Answer: A

° Watch Video Solution

49. The first nuclear reactor was built in

I ° Wiaksl \tAAA Caliikiam


https://dl.doubtnut.com/l/_hH1YIBCfv9tc
https://dl.doubtnut.com/l/_8i6QHzxPdtr9

50. Reactors that converts fertile material into

fissile material are called

o Watch Video Solution

51. An electron changes its position from orbit
n=2 to the orbit n=4 of an atom. The
wavelength of the emitted radiations is (R =

Rydberg's constant)

16
A —
R


https://dl.doubtnut.com/l/_8i6QHzxPdtr9
https://dl.doubtnut.com/l/_lScmEWF6Z6m0
https://dl.doubtnut.com/l/_YtA9FHijTtAi

B.16 /3R
C.16 /5R

D.16 /7R

Answer: B

o Watch Video Solution

52. An electron changes its position from orbit
n=3 to the orbit n=4 of an atom. The
wavelength of the emitted radiations is (R =

Rydberg's constant)


https://dl.doubtnut.com/l/_YtA9FHijTtAi
https://dl.doubtnut.com/l/_F0ok27EPfj2r

144
A ——
R

B.144 /3R
C.144/5R

D.144 /7R

Answer: D

o Watch Video Solution

53.The energy of hydrogen atom in nth orbit is
E,. Then the energy in nth orbit of single

ionised helium atom will be


https://dl.doubtnut.com/l/_F0ok27EPfj2r
https://dl.doubtnut.com/l/_dTzPN9IkwF5l

A 4AE,

Answer: A

° Watch Video Solution

54. In the Bohr model of a hydrogen atom, the
centripetal force is furnished by the coulomb

attraction between the proton and the


https://dl.doubtnut.com/l/_dTzPN9IkwF5l
https://dl.doubtnut.com/l/_9k3Pd4gzpPF3

electron. If a, is the radius of the ground state
orbit, m is the mass, e is the charge on the
electron and g is the vacuum permittivity, the

speed of the electron is

A.O
€
B. —
A/ €oapm
e
C.

\/47r€0a0m
D 24 47r50a0m

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_9k3Pd4gzpPF3

55. In which of the following systems will the

radius of the first orbit (n=1) be minimum ?

A. Hydrogen atom

B. Doubly ionized lithium

C. Singly ionized helium

D. Deuterium atom

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_cOhFtMnvKoAh
https://dl.doubtnut.com/l/_dHmNMhmPFgGT

56. In which of the following systems will be the

radius of the first orbit (n =1) be minimum ?

A. Hydrogen atom

B. Singly ionized helium

C. Doubly ionized lithium

D. Carbon atom

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_dHmNMhmPFgGT

57. was the first chairman of the

Atomic Energy Commission of India.

o Watch Video Solution

58. An electron changes its position from orbit
n=2 to the orbit n=3 of an atom. The

wavelength of the emitted radiations is

36
A —
R
36
B. —
3R
36
C.—
S5R


https://dl.doubtnut.com/l/_zrY3gzUVGisl
https://dl.doubtnut.com/l/_07dJl8XKwAs5

36
TR

Answer: C

° Watch Video Solution

59. When hydrogen atom is in it's first excited

level, its radius is it's ground state

radius.

A. Half

B. Same


https://dl.doubtnut.com/l/_07dJl8XKwAs5
https://dl.doubtnut.com/l/_ygYW3dPETWa9

C. Twice

D. Four times

Answer: D

o Watch Video Solution

60. In the Bohr's hydrogen atom model, the
radius of the stationary orbit is directly
proportional to

(h = Planck's constant)

A bt


https://dl.doubtnut.com/l/_ygYW3dPETWa9
https://dl.doubtnut.com/l/_lQALT6NP8lGL

B.h

C.h 2

D. h?

Answer: D

o Watch Video Solution

61. When a hydrogen atom is raised from the

ground state to an excited state

A. PE increases and K.E. decreases


https://dl.doubtnut.com/l/_lQALT6NP8lGL
https://dl.doubtnut.com/l/_qYahakUEhPqn

B. P.E. decreases and K.E increases

C.both K.E. and P.E. increase

D. both K.E. and P.E. decrease

Answer: A

o Watch Video Solution

62. The radius of hydrogen atom in it's ground
state is 5.3 x 10~ 'm. After collision with an

electron, it is found to have a radius of


https://dl.doubtnut.com/l/_qYahakUEhPqn
https://dl.doubtnut.com/l/_cuKxUv8gDwdu

21.2 x 10~ "'m.What is the principal quantum

number n of the final state of the atom ?

An=4
B.n = 2
C.n =16
D.n =3
Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_cuKxUv8gDwdu

63. The radius of hydrogen atom in it's ground
state is 4 x 10~ '®m. After collision with an
electron, it is found to have a radius of
64 x 10~ *m. What is the principal quantum

number n of the final state of the atom ?

An=4
B.n =2
C.n =16
D.n =3

Answer: A


https://dl.doubtnut.com/l/_6ArwxHrmXTBo

° Watch Video Solution

64.The radius of hydrogen atom in it's ground
state is 0.1 x 10~ “m. After collision with an
electron, it is found to have a radius of
25.6 x 10~ "m. What is the principal quantum

number n of the final state of the atom ?


https://dl.doubtnut.com/l/_6ArwxHrmXTBo
https://dl.doubtnut.com/l/_eyTgHLQzGqDQ

Answer: C

° Watch Video Solution

65. In the Bohr's hydrogen atom model, the
radius of the stationary orbit is inversely
proportional to

(m = electron rest mass)


https://dl.doubtnut.com/l/_eyTgHLQzGqDQ
https://dl.doubtnut.com/l/_fIxKnfIr2v8a

Answer: A

o Watch Video Solution

66. In the Bohr's hydrogen atom model, the
radius of the stationary orbit is inversely
proportional to

(e = charge of an electron)

A.e_1


https://dl.doubtnut.com/l/_fIxKnfIr2v8a
https://dl.doubtnut.com/l/_NR6dQuVmgrIN

Answer: C

o Watch Video Solution

67. The energy required to knock out the
electron in the fifth orbit of a hydrogen atom is

equal to


https://dl.doubtnut.com/l/_NR6dQuVmgrIN
https://dl.doubtnut.com/l/_oU0AmF1cP1Y2

A.13.6eV

+13.6
25

—13.6
5

—13.6
25

eV

eV

eV

Answer: D

° Watch Video Solution

68. The energy required to knock out the
electron in the seventh orbit of a hydrogen

atom is equal to


https://dl.doubtnut.com/l/_oU0AmF1cP1Y2
https://dl.doubtnut.com/l/_MRsHAntakzE7

13.6
A + eV

+13.6
49

—13.6
49

—13.6
D.

eV

eV

eV

Answer: C

° Watch Video Solution

69. In terms of Bohr radius a, the radius of the

second Bohr orbit of a hydrogen atom is given

by


https://dl.doubtnut.com/l/_MRsHAntakzE7
https://dl.doubtnut.com/l/_yAyIhvEqL30B

A. 40,0

B. 8&0

C. \/ECLO

D. 20,()

Answer: A

° Watch Video Solution

70. The ionization energy of hydrogen atom is

13.6 eV. Following Bohr's theory, the energy


https://dl.doubtnut.com/l/_yAyIhvEqL30B
https://dl.doubtnut.com/l/_tIHs4I4pPQqG

corresponding to a transition between 2nd and

3rd orbit is

A.340eV

B.1.89 eV

C.0.85eV

D. 0.66 eV

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_tIHs4I4pPQqG

71. The elements whose atomic number is more

than 83 undergo radioactivity.

o Watch Video Solution

72. Most of the radioactive elements are

o Watch Video Solution

73. Technitium with atomic number

| - |


https://dl.doubtnut.com/l/_2Hmq5U01KaiI
https://dl.doubtnut.com/l/_6IpNGz87QkW1
https://dl.doubtnut.com/l/_xJVDaBo530hr

I O Watch Video Solution ]

74. The mass of an atom is concentrated in its

central part called

° Watch Video Solution

75. Henry Becquerel discovered in

1896.

° Watch Video Solution



https://dl.doubtnut.com/l/_xJVDaBo530hr
https://dl.doubtnut.com/l/_DIFSyqUjJVjb
https://dl.doubtnut.com/l/_XuBshS8fuDtc
https://dl.doubtnut.com/l/_bmZV7QWifjjP

76. is a radioactive element.

° Watch Video Solution

77. Radium emitted radiations spontaneously

° Watch Video Solution

78. is known as an ore of uranium.

° Watch Video Solution



https://dl.doubtnut.com/l/_bmZV7QWifjjP
https://dl.doubtnut.com/l/_zZn3X39O3a6r
https://dl.doubtnut.com/l/_I0hFpFZv3ZnK

79. elements emit harmful radioactive

radiations.

o Watch Video Solution

80. The nucleus of some elements is

o Watch Video Solution

81. The nucleus undergo nuclear decay to get

converted into a more

| - |


https://dl.doubtnut.com/l/_vsnQM1wfiHrQ
https://dl.doubtnut.com/l/_EaElmAaTAxxb
https://dl.doubtnut.com/l/_PaW3r9gUfFwv

I &J Watch Video Solution I

82. Promethium with atomic number

° Watch Video Solution

83. radioactive substances have been

discovered so far.

° Watch Video Solution



https://dl.doubtnut.com/l/_PaW3r9gUfFwv
https://dl.doubtnut.com/l/_yKYrcIh4iIya
https://dl.doubtnut.com/l/_HtMWl0WmlpTa

84. The atomic number of Cu is

° Watch Video Solution

85. The atomic number of Cobalt is

° Watch Video Solution

86. The atomic number of Chromium is

° Watch Video Solution



https://dl.doubtnut.com/l/_7E7agqBObbNe
https://dl.doubtnut.com/l/_ixqCTmXuLrtC
https://dl.doubtnut.com/l/_F2zZGNL4LvWc
https://dl.doubtnut.com/l/_znpQmiBjvvns

87. The atomic number of Cadmium is

° Watch Video Solution

88. The atomic number of Boron is

o Watch Video Solution

89. The atomic number of carbon is

° Watch Video Solution



https://dl.doubtnut.com/l/_znpQmiBjvvns
https://dl.doubtnut.com/l/_9snHobdgfem6
https://dl.doubtnut.com/l/_nw6gSQEin1pu
https://dl.doubtnut.com/l/_hGMnjEw09l5s

90. The atomic number of hydrogen is

° Watch Video Solution

91. One roentgen produces a charge of

coulomb in 1kg of air.

° Watch Video Solution

92. The atomic number of oxygen is

° Watch Video Solution



https://dl.doubtnut.com/l/_hGMnjEw09l5s
https://dl.doubtnut.com/l/_Alp4uJlSk99P
https://dl.doubtnut.com/l/_QgersgsE0ybM

93. The ionizing power of alpha rays is 10,000

times greater than

o View Text Solution

94. a-rays are charged.

° View Text Solution

95. The charge of each [-particle equal to



https://dl.doubtnut.com/l/_gE0p2TYiPJAC
https://dl.doubtnut.com/l/_01Y67MSp2FXb
https://dl.doubtnut.com/l/_I0hPV9oUHDBY

I @ View Text Solution I

96. S-particleare charged.
o View Text Solution
97. in 400 BC believed that matter is

made up of tiny indestructible units called

atom.

° Watch Video Solution



https://dl.doubtnut.com/l/_I0hPV9oUHDBY
https://dl.doubtnut.com/l/_rQaZyKrRaHUF
https://dl.doubtnut.com/l/_heKO60auyM6C
https://dl.doubtnut.com/l/_iGf5fGZhy8QP

98. In 1803, considered that

elements consists of atoms, which are identical

in nature.

° View Text Solution

99. J-) Thomson discovered

° View Text Solution

100. Cathode rays are known as

O View Text Solution



https://dl.doubtnut.com/l/_iGf5fGZhy8QP
https://dl.doubtnut.com/l/_o9nlomL5HoFO
https://dl.doubtnut.com/l/_5P1rZOpvYmvq

101. were named as protons by

Rutherford.

° View Text Solution

102. Elementary particles neutron, positron are

emitted by radioactivity.

o View Text Solution



https://dl.doubtnut.com/l/_5P1rZOpvYmvq
https://dl.doubtnut.com/l/_ovtuYEnykQP6
https://dl.doubtnut.com/l/_9KNB9jPbzwK9

103. radioactivity can be controlled.

o View Text Solution

104. The particle which is used to induce

artificial disintegration is known as

o View Text Solution

105. When the projectile hits the parent

nucleus, it is converted into an



https://dl.doubtnut.com/l/_jNCPnfqqvH83
https://dl.doubtnut.com/l/_mZpDM7Qr0sGM
https://dl.doubtnut.com/l/_Dv3GIGmwLFxZ

nucleus.

° View Text Solution

106. Uranium was discovered by

° View Text Solution

107. are the basic elementary particles

in all atoms.

° View Text Solution



https://dl.doubtnut.com/l/_Dv3GIGmwLFxZ
https://dl.doubtnut.com/l/_pUd9jJTH7Tav
https://dl.doubtnut.com/l/_iNWPeKLRoSRx

108. are electrmagnetic waves

consisting of photons.

o View Text Solution

109. The ionizing power of alpha rays is 100

times greater than

o View Text Solution



https://dl.doubtnut.com/l/_WueAkEwYVx6L
https://dl.doubtnut.com/l/_nkgXzHfeS84g

110. The nuclear bomb dropped in Hiroshima

and Nagasaki are

o View Text Solution

111. Sun fuses about tons of hydrogen

each second.

° View Text Solution



https://dl.doubtnut.com/l/_YJnibJDDOas1
https://dl.doubtnut.com/l/_qNuWNI5s10D4

112. When radiation from the sun enters the

Earth its value is per unit area in unit

time.

o View Text Solution

113. The technique used to determine the age
of the Earth, fossils , old paintings and

monuments is

o View Text Solution



https://dl.doubtnut.com/l/_xnMmtW1uBmi1
https://dl.doubtnut.com/l/_qlNeEguBvQLo
https://dl.doubtnut.com/l/_eEByJ5YaIKzh

114. old is our mother Earth.

o View Text Solution

15. In ~«-decay , only the energy level of

the

o View Text Solution

116. During a y-decay , the atomic number and

mass number of the radioactive nucleus will



https://dl.doubtnut.com/l/_eEByJ5YaIKzh
https://dl.doubtnut.com/l/_pGO0u2ZTS7m9
https://dl.doubtnut.com/l/_vQz7IwlhTfh2

° View Text Solution

117. A fissionable material is a

element.

° View Text Solution

118. All isotopes of uranium do not undergo

when they absorb neutron.

° View Text Solution



https://dl.doubtnut.com/l/_vQz7IwlhTfh2
https://dl.doubtnut.com/l/_3dSM9xkTKRY0
https://dl.doubtnut.com/l/_FbVK8FtVxWuO
https://dl.doubtnut.com/l/_noPSs5qlm7U6

119. The process of breaking up of heavier
nucleus into smaller nuclei with release of

large amount of energy is called

o View Text Solution

120. A is also known as fissile

material.

o View Text Solution

121. is non-fissionable.



https://dl.doubtnut.com/l/_noPSs5qlm7U6
https://dl.doubtnut.com/l/_32BPQD8mNUvS
https://dl.doubtnut.com/l/_OuJ5xjGr8cWv

° View Text Solution

122. The two types of chain-reaction are

° View Text Solution

123. The energy released due to a controlled

chain reaction can be utilized for

purposes.

° View Text Solution



https://dl.doubtnut.com/l/_OuJ5xjGr8cWv
https://dl.doubtnut.com/l/_45uB1mhCmbET
https://dl.doubtnut.com/l/_eFLIgmbYjBKB

124. Controlled chain reaction is used in a

to produce energy in a sustained and

controlled manner.

o View Text Solution

125. In the uncontrolled chain reaction, the

number of multiplies indefinitely.

o View Text Solution



https://dl.doubtnut.com/l/_eFLIgmbYjBKB
https://dl.doubtnut.com/l/_9Jbk5m7IFide
https://dl.doubtnut.com/l/_oSBbhDFZueuf

126. chain reaction is used in atom

bomb to produce an explosion.

o View Text Solution

127. depends on the nature , density

and size of the fissile material.

o View Text Solution



https://dl.doubtnut.com/l/_aFMfBAbYXQJf
https://dl.doubtnut.com/l/_wpoSHLLfvKNd

128. The minimum mass of a fissile material
necessary to sustain the chain reaction is

called

o View Text Solution

129. If the mass of the fissile material is less

than the critical mass is termed as

o View Text Solution



https://dl.doubtnut.com/l/_XvkEF1Y45ZcQ
https://dl.doubtnut.com/l/_bCmXHXJNVkTy

130. are used to convert non-

fissionable materials into fissionable materials.

° View Text Solution

131. AEC stands for

° View Text Solution

132. AEC is now known as

° View Text Solution



https://dl.doubtnut.com/l/_IJSNsMJ9KupU
https://dl.doubtnut.com/l/_gb0U08q80rWk
https://dl.doubtnut.com/l/_aXzcdbHkevSS

133. If the mass of the fissile material is more

than the critical mass is termed as

o View Text Solution

134. The unit used to measure the energy of

smaller particles is

o View Text Solution



https://dl.doubtnut.com/l/_aXzcdbHkevSS
https://dl.doubtnut.com/l/_oWqWcZyliJDZ
https://dl.doubtnut.com/l/_Z3bViYHmjKaH

° View Text Solution

136.1 MeV = evV.

° View Text Solution

137. An atom bomb consists of a piece of fissile

material whose mass is

° View Text Solution



https://dl.doubtnut.com/l/_gBiJLe6eCRGu
https://dl.doubtnut.com/l/_OMLtG4P72F8q
https://dl.doubtnut.com/l/_cqgXvPfFle1P

138. An atom bomb has a fissile material

which can fit into cyclindrical void.

o View Text Solution

139. is an isotope of Hydrogen.

o View Text Solution



https://dl.doubtnut.com/l/_cqgXvPfFle1P
https://dl.doubtnut.com/l/_0eFLFpa5NbNF
https://dl.doubtnut.com/l/_Ty57nbszPjI8

140. Energy can be produced when two lighter
nuclei combine to form a heavier nucleus is

called as

o View Text Solution

141. The relationship between mass and energy

can be given by

o View Text Solution



https://dl.doubtnut.com/l/_oSz8lB58EqRR
https://dl.doubtnut.com/l/_BjnOmcv0coO3

142. The velocity of light in vacuum is

ms_l.

° View Text Solution

143. The bomb dropped at Nagasaki used a

° View Text Solution



https://dl.doubtnut.com/l/_LDGkPq2aAnkx
https://dl.doubtnut.com/l/_ydKK80gfn1UM

144. The concept of mass-energy equivalence

was proposed by

o View Text Solution

145. All stars contain a large amount of

o View Text Solution



https://dl.doubtnut.com/l/_lG35ytuQU932
https://dl.doubtnut.com/l/_F8KHfk7nywjI

146. or rods are used as

control rods.

o View Text Solution

147. was the first chairman of Indian

Atomic Energy Commission.

° View Text Solution



https://dl.doubtnut.com/l/_E1cDlEeOatk2
https://dl.doubtnut.com/l/_NiyjCXquC8RR

148. explained that the mass of an atom

iIs concentrated in its central part called

nucleus.

o View Text Solution

149. Fusion reaction that takes place in the

o View Text Solution



https://dl.doubtnut.com/l/_TNtw4ko87NQI
https://dl.doubtnut.com/l/_DAKgIa1Hwssa

150. The Sun radiates about joule of
energy per second.

o View Text Solution
151. Radio isotopes can be obtained

from

° View Text Solution



https://dl.doubtnut.com/l/_AFrni77yQW4K
https://dl.doubtnut.com/l/_b9S8PKzlXHMg

152. The radiations from the radio isotopes can

be used to kill the and

o View Text Solution

153. are used to detect defects of bone

metabolism.

o View Text Solution



https://dl.doubtnut.com/l/_2uR9NUuOVblH
https://dl.doubtnut.com/l/_HQ6y7P0dD4wL

154. Radio isotopes are used to diagnose the

nature of

o View Text Solution

155. is used for the effective

functioning of heart.

o View Text Solution

156. is used to cure goiter.



https://dl.doubtnut.com/l/_UfCyNDvnyA9X
https://dl.doubtnut.com/l/_mtWPyBnk68to
https://dl.doubtnut.com/l/_e1cCcd8Nahst

I u View Text Solution I

157. is used in the treatment of skin

diseases.

o View Text Solution

158. In industries |, are used as

tracers to detect any manufacturing defects

such as cracks and leaks.

° View Text Solution



https://dl.doubtnut.com/l/_e1cCcd8Nahst
https://dl.doubtnut.com/l/_qsjV50nlP9cL
https://dl.doubtnut.com/l/_PbmrkuiSxcwW

159. An isotope of is used in the

airlines to detect the explosives in the luggage.

o View Text Solution

160. An isotope of is used in many

industries as a smoke detector.

o View Text Solution



https://dl.doubtnut.com/l/_WIiwAY7wo9cz
https://dl.doubtnut.com/l/_WkHywuCkfa0e

161. The age of the Earth can be determined

o View Text Solution

162. The phenomenon of nuclear decay of
certain elements with the emission of

radiations like o, 8, and~y ray is called

o View Text Solution



https://dl.doubtnut.com/l/_cAuOMRbwBhIQ
https://dl.doubtnut.com/l/_0hZgHP5nXcNx

163. Spontaneous emulsion of radiation on

their own is called

o View Text Solution

164. are two elements which are

radioactive with atomic number less than 83.

o View Text Solution



https://dl.doubtnut.com/l/_1DNPaQUPIzft
https://dl.doubtnut.com/l/_KY8b5evraNSr

165. defined as the quantity of one

disintegration per seconds.

° View Text Solution

Additional Questions Answer State Whether The

Following Statements Are True Or False If False
Correct The Statement

1.).) Thomson discovered nucleus.

° View Text Solution



https://dl.doubtnut.com/l/_LEzf7eTIrwdL
https://dl.doubtnut.com/l/_VZqFBn3BUItS
https://dl.doubtnut.com/l/_VsvXz4CasF7e

2. Goldstein discovered cathode rays.

° View Text Solution

3. Henry Becequerel discovered uranium.

° View Text Solution

4. Elements whose atomic number is less than

83 are undergo spotaneous radioactivity.

° View Text Solution



https://dl.doubtnut.com/l/_VsvXz4CasF7e
https://dl.doubtnut.com/l/_YZLrSLJxnyeb
https://dl.doubtnut.com/l/_FnPykvLgNdqA

5. Irene Curie & Joliot discovered, natural

radioactivity.

° View Text Solution

6. Artificial radioactivity is called natural

radioactivity.

° View Text Solution



https://dl.doubtnut.com/l/_FnPykvLgNdqA
https://dl.doubtnut.com/l/_FCqu49dMXs87
https://dl.doubtnut.com/l/_v3ZiXwWkkDwF

7. The Sl unit of radioactivity is Curie.

o View Text Solution

8. The radiation exposure of ~-ray is measured

by Rutherford.

o View Text Solution

9. lonising power of a a-ray is 10,000 times

greater than (- rays.

| - |


https://dl.doubtnut.com/l/_ozZjOT2qpVzB
https://dl.doubtnut.com/l/_RJ4FF6K3qRUN
https://dl.doubtnut.com/l/_HZSX3rgif07S

I & View Text Solution I

10. Gamma rays are deflected by both

electronic and magnetic fields.

o View Text Solution

11. Beta rays travels with the speed of light.

° View Text Solution



https://dl.doubtnut.com/l/_HZSX3rgif07S
https://dl.doubtnut.com/l/_tbZ71uvmxnAT
https://dl.doubtnut.com/l/_u2cHvXYYHtv4

12. In a-decay atomic number of daughter

nucleus is increased by one.

o View Text Solution

13. Splitting up of a heavier nucleus into two

smaller nuclei is called nuclear fusion.

o View Text Solution



https://dl.doubtnut.com/l/_x4aIOyG0kfF9
https://dl.doubtnut.com/l/_vmhHrdek8uQ9

14. A radioactive elements is converted into

fissionable material are called fissile material.

o View Text Solution

15. Controlled chain reaction is used in atom

bomb.

o View Text Solution



https://dl.doubtnut.com/l/_NOOwwAm57QZ2
https://dl.doubtnut.com/l/_pX1wyoUwN4nL

16. Two lighter nuclei combined to form heavier

nuclei is nuclear fission.

o View Text Solution

17. Nuclear fission is a thermonuclear reaction.

o View Text Solution

18. To detect the explosives in the luggage

Am** is used.

| - |


https://dl.doubtnut.com/l/_vPiy79k3F5bR
https://dl.doubtnut.com/l/_OY49S7pH744p
https://dl.doubtnut.com/l/_Rv3FScnLForY

I & View Text Solution I

19. Safe limit of exposure to radiation is 20 milli

slevert per month.

° View Text Solution

20. When body is exposed to 600 R, it causes

total disease.

° View Text Solution



https://dl.doubtnut.com/l/_Rv3FScnLForY
https://dl.doubtnut.com/l/_CHWEJkYQcseU
https://dl.doubtnut.com/l/_i7XdFqsGwhSV
https://dl.doubtnut.com/l/_zPY5PhGnQNBg

21. The function of control rods is to absorb

the part of the KE. of the neutrons.

° View Text Solution

22.The nuclear energy is measured in Curie.

° View Text Solution

Additional Questions Answer Match The

Following



https://dl.doubtnut.com/l/_zPY5PhGnQNBg
https://dl.doubtnut.com/l/_ZEaGvH55McIW

1.l

° View Text Solution

2.5

o View Text Solution

3.

o View Text Solution



https://dl.doubtnut.com/l/_SudGSAWCZZxb
https://dl.doubtnut.com/l/_FToL8J8iUV51
https://dl.doubtnut.com/l/_K39kBHgp5RDh
https://dl.doubtnut.com/l/_y4lwr0L5Rl6O

4.,

° View Text Solution

5.0

o View Text Solution

6.l

° View Text Solution



https://dl.doubtnut.com/l/_y4lwr0L5Rl6O
https://dl.doubtnut.com/l/_7qJxUZd9zK6c
https://dl.doubtnut.com/l/_J52JLmgBLOF7

Additional Questions Answer Assertion And

Reason

1. Assertion: Radioactive nuclei emit beta

particles.

Reason: electron exist inside the nucleus.

A. Both assertion and reason are true and

reason is correct explanation of

assertion.

B. Both assertion and reason are true but

reason is not the correct explanation of


https://dl.doubtnut.com/l/_wJBaBNlgIjnS

assertion.

C. Assertion is true, but Reason is false.

D. Assertion is false, but the reason is true.

Answer: C

o Watch Video Solution

2. Assertion: 5 X4 undergoes 2 a-decay and the
daughter product is L 4Y4-8
Reason: In a-decay the mass number decreases

by 4 and atomic number decreases by 2.


https://dl.doubtnut.com/l/_wJBaBNlgIjnS
https://dl.doubtnut.com/l/_qqmcLYVmqUB9

A. Both assertion and reason are true and

reason is correct explanation of

assertion.

B. Both assertion and reason are true but

reason is not the correct explanation of

assertion.

C. Assertion is true, but Reason is false.

D. Assertion is false, but the reason is true.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_qqmcLYVmqUB9

3. Assertion:Among alpha, beta and gamma
rays, a-particle has maximum penetrating
power.

Reason: The a-particle is heavier than 8 & «

rays

A. Both assertion and reason are true and

reason is correct explanation of

assertion.


https://dl.doubtnut.com/l/_qqmcLYVmqUB9
https://dl.doubtnut.com/l/_PP7jwaRdZHik

B. Both assertion and reason are true but

reason is not the correct explanation of

assertion.

C. Assertion is true, but Reason is false.

D. Assertion is false, but the reason is true.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_PP7jwaRdZHik

4. Assertion: The ionision power of G-particle is
less compared to «a-particle but their
penetrating power is more.
Reason: The mass of B-particle is less than the
mass of a-particle.
A.Both assertion and reason are true and
reason is correct explanation of
assertion.

B. Both assertion and reason are true but

reason is not the correct explanation of


https://dl.doubtnut.com/l/_Fp4qjb1PcMkd

assertion.

C. Assertion is true, but Reason is false.

D. Assertion is false, but the reason is true.

Answer: B

° Watch Video Solution

5. Assertion: Radioactivity is a spontaneous
process.
Reason: Nuclear radiation emission depends

on the nature of substance.


https://dl.doubtnut.com/l/_Fp4qjb1PcMkd
https://dl.doubtnut.com/l/_nRit6rZ0KbHU

A. Both assertion and reason are true and

reason is correct explanation of

assertion.

B. Both assertion and reason are true but

reason is not the correct explanation of

assertion.

C. Assertion is true, but Reason is false.

D. Assertion is false, but the reason is true.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_nRit6rZ0KbHU

6. Assertion: A cadmium is used for making

control rods in nuclear reactors.

Reason: Cadmium is very effective in slowing

down the speed of neutrons.

A. Both assertion and reason are true and

reason is correct explanation of

assertion.

B. Both assertion and reason are true but

reason is not the correct explanation of


https://dl.doubtnut.com/l/_nRit6rZ0KbHU
https://dl.doubtnut.com/l/_rrpsR3y5jYOG

assertion.

C. Assertion is true, but Reason is false.

D. Assertion is false, but the reason is true.

Answer: C

° Watch Video Solution

7. Assertion: Neutrons are the best
bombarding particles.

Reason: Neutrons are neutral particles.


https://dl.doubtnut.com/l/_rrpsR3y5jYOG
https://dl.doubtnut.com/l/_PLjKdgDXjJWF

A. Both assertion and reason are true and

reason is correct explanation of

assertion.

B. Both assertion and reason are true but

reason is not the correct explanation of

assertion.

C. Assertion is true, but Reason is false.

D. Assertion is false, but the reason is true.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_PLjKdgDXjJWF

8. Assertion: The basic principle involved in

Hydrogen bomb is nuclear fission.

Reason: Controlling the nuclear fusion is not

successful.

A. Both assertion and reason are true and

reason is correct explanation of

assertion.

B. Both assertion and reason are true but

reason is not the correct explanation of


https://dl.doubtnut.com/l/_PLjKdgDXjJWF
https://dl.doubtnut.com/l/_oCVbEvSPd7cN

assertion.

C. Assertion is true, but Reason is false.

D. Assertion is false, but the reason is true.

Answer: D

o Watch Video Solution

9. Assertion: C-14 isotope of carbon is used in
carbon dating of rocks, fossils etc.
Reason: Radioactive carbon decays through

emission of - rays.


https://dl.doubtnut.com/l/_oCVbEvSPd7cN
https://dl.doubtnut.com/l/_0AdRAtox3h9c

A. Both assertion and reason are true and

reason is correct explanation of

assertion.

B. Both assertion and reason are true but

reason is not the correct explanation of

assertion.

C. Assertion is true, but Reason is false.

D. Assertion is false, but the reason is true.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_0AdRAtox3h9c

10. Assertion: A heavy water acts as a

moderator in nuclear reactors.

Reason: Heavy water absorbs fast moving

electrons.

A. Both assertion and reason are true and

reason is correct explanation of

assertion.

B. Both assertion and reason are true but

reason is not the correct explanation of


https://dl.doubtnut.com/l/_0AdRAtox3h9c
https://dl.doubtnut.com/l/_wbZocfX4ZFlL

assertion.

C. Assertion is true, but Reason is false.

D. Assertion is false, but the reason is true.

Answer: C

o Watch Video Solution

11. Assertion : y-rays have very high penetrating
power.

Reason: y-are high energy radiator.


https://dl.doubtnut.com/l/_wbZocfX4ZFlL
https://dl.doubtnut.com/l/_d0v1R9hGxS7D

A. Both assertion and reason are true and

reason is correct explanation of

assertion.

B. Both assertion and reason are true but

reason is not the correct explanation of

assertion.

C. Assertion is true, but Reason is false.

D. Assertion is false, but the reason is true.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_d0v1R9hGxS7D

Additional Questions Answer Use The Analogy To

Fill In The Blanks

1. Heavier elements into higher elements:

:Lighter elements into heavier

elements : Nuclear fusion

° Watch Video Solution

2. a-rays: Helium particles :: S-rays:

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_d0v1R9hGxS7D
https://dl.doubtnut.com/l/_8kST2738tzS2
https://dl.doubtnut.com/l/_STW3vi5DT8oT

3. James Chadwick : neutrons:: Rutherford :

element :

o Watch Video Solution

4. Radioactivity element : uranium :: Lighter

element :

° Watch Video Solution



https://dl.doubtnut.com/l/_STW3vi5DT8oT
https://dl.doubtnut.com/l/_skWOjNcsvOyA
https://dl.doubtnut.com/l/_gemXUEsfw8Yj

5. Natural radioactivity : uncontrolled

Artificial radioactivity :

o Watch Video Solution

6. :negative charged particles :: vy-rays

: neutral

o Watch Video Solution

7. P32 . cure skin disease :: Fle®” :

| - |


https://dl.doubtnut.com/l/_5yvdfwCAzHal
https://dl.doubtnut.com/l/_2ynd0zCDTtX4
https://dl.doubtnut.com/l/_Ozyq8OW1Jhv0

I &J Watch Video Solution I

8. High ionizing power : a ray :: Low ionizing

0 Watch Video Solution

9. Fissional material : U?%:: Fertile material

° Watch Video Solution



https://dl.doubtnut.com/l/_Ozyq8OW1Jhv0
https://dl.doubtnut.com/l/_flksVI6zLw2d
https://dl.doubtnut.com/l/_wQMqu6liiZKb

Additional Questions Answer Arrange The

Following In Correct Sequence

1. Write in decreasing order, the ionizing
property of the given rays.

B-rays, y-rays, a-rays, I-R rays

° Watch Video Solution

2. Write in ascending order, the radioactive
elements according to the atomic number.

NP , Pu, U, Pa

| - |


https://dl.doubtnut.com/l/_yoH1ews79OwM
https://dl.doubtnut.com/l/_LzAY8TLp5toD

I u Watch Video Solution ]

Additional Questions Answer Answer In Sentence

Word

1. What is it called when two atomic nuclei fuse

° Watch Video Solution

2. What form of radioactive decay reduces the

atomic number of protons by 2 ?



https://dl.doubtnut.com/l/_LzAY8TLp5toD
https://dl.doubtnut.com/l/_PaG1zABpwvJq
https://dl.doubtnut.com/l/_FuzJmxogP5VS

\ ° Watch Video Solution

3. Write the name of the radioactive radiations

which are emitted by the unstable nuclei.

° Watch Video Solution

4, How does radioactive material generate

electricity ?

° Watch Video Solution



https://dl.doubtnut.com/l/_FuzJmxogP5VS
https://dl.doubtnut.com/l/_I0qUWIQg4Guk
https://dl.doubtnut.com/l/_gcNKgbBCitn7
https://dl.doubtnut.com/l/_PBnEC6D1mzEV

5. Name the nuclear reactors in India.

o View Text Solution

6. How do workers at nuclear power plants
know whey they've received the maximum

amount of radiation deemed safe ?

° Watch Video Solution

7. Give the value of kinetic energy of alpha ray.

I ° Watch Video Solution


https://dl.doubtnut.com/l/_PBnEC6D1mzEV
https://dl.doubtnut.com/l/_kBCICoJ8sE29
https://dl.doubtnut.com/l/_rPbX9Kibnc8N

Additional Questions Answer Very Short Answers

1. Define radioactivity. What are radioactive

elements ?

° Watch Video Solution

2. What is meant by Natural Radioactivity ?

° Watch Video Solution



https://dl.doubtnut.com/l/_rPbX9Kibnc8N
https://dl.doubtnut.com/l/_abYnhUPkJ3jb
https://dl.doubtnut.com/l/_7kT7HsjV1ENM
https://dl.doubtnut.com/l/_jmZHpmHE4Yrf

3. Name the elements which undergoes

spontaneous radioactivity .

o Watch Video Solution

4. What is Artificial Radioactivity (or) Induced

Radioactivity ?

o Watch Video Solution

5. What is meant by leakage of neutrons ?

| e |


https://dl.doubtnut.com/l/_jmZHpmHE4Yrf
https://dl.doubtnut.com/l/_NaFUqaFTUACh
https://dl.doubtnut.com/l/_R4rcPxGDe7BA

l & Watch Video Solution ]

6. Write the two factors which lead to loss of

neutrons .

° Watch Video Solution

7. What is meant by (i) Sub critical (ii) Super

critical

° Watch Video Solution



https://dl.doubtnut.com/l/_R4rcPxGDe7BA
https://dl.doubtnut.com/l/_a6k6HEuKYsjO
https://dl.doubtnut.com/l/_eLcdx1FXl3Dh
https://dl.doubtnut.com/l/_6yBUWWMxrHi6

8. What is meant by mass defect ?

° View Text Solution

9. Write the conditions necessary for nuclear

fusion.

° Watch Video Solution

10. Name the nuclear power stations in Tamil

Nadu .

° Watch Video Solution



https://dl.doubtnut.com/l/_6yBUWWMxrHi6
https://dl.doubtnut.com/l/_h4vn2rk44jTa
https://dl.doubtnut.com/l/_ARYMYFfpEzsY

11. Write the use of C'f*? & Am?**

° Watch Video Solution

12. What is radio carbon dating ?

° Watch Video Solution

13. What is meant by chain reaction ?

° Watch Video Solution



https://dl.doubtnut.com/l/_ARYMYFfpEzsY
https://dl.doubtnut.com/l/_XuWqUbJDyZN4
https://dl.doubtnut.com/l/_E3hzKzgotfxz
https://dl.doubtnut.com/l/_xDXnMsMUGHNg

Additional Questions Answer Short Answers

1. How does the repulsive force between the
two deuterium atoms overcome during nuclei

fusion process ?

o Watch Video Solution

2. Why nuclear fusion is called thermonuclear

reaction ?

I o Ao _L v ldl_ _ e~_1..0°_ l


https://dl.doubtnut.com/l/_xDXnMsMUGHNg
https://dl.doubtnut.com/l/_jNa7DfKBjB9X
https://dl.doubtnut.com/l/_3oqggliNTd5L

—  ¥vdilll VIUCO o0I1ULIOI] ) |

3. Write the principle used in hydrogen bomb ?

° Watch Video Solution

4. Write the use of radioactive isotopes used in

industries ?

O Watch Video Solution

5. Write a note on radiation hazards.


https://dl.doubtnut.com/l/_3oqggliNTd5L
https://dl.doubtnut.com/l/_iYZ1jHkKCHQj
https://dl.doubtnut.com/l/_1DORveSd518j
https://dl.doubtnut.com/l/_QwXITkxnq2hX

° Watch Video Solution

6. Write a note on Dosimeter ?

° Watch Video Solution

7. Distinguish between fissionable & fertile

material.

° Watch Video Solution



https://dl.doubtnut.com/l/_QwXITkxnq2hX
https://dl.doubtnut.com/l/_qrlSnXLm7Wdj
https://dl.doubtnut.com/l/_zHuj4jNgdqqs

8. Write the types of nuclear reactors ?

° Watch Video Solution

9. What are the uses of nuclear reactor ?

° Watch Video Solution

Additional Questions Answer Long Answers



https://dl.doubtnut.com/l/_Eoxn3v61anAr
https://dl.doubtnut.com/l/_9sDEbjMiqbz9

1. Explain the principle & structure of atom

bomb.

° Watch Video Solution

2. Explain the uses of radio isotopes in

medicine field.

o Watch Video Solution



https://dl.doubtnut.com/l/_ng2ZxqjwBBvE
https://dl.doubtnut.com/l/_6rR2E9px3ya1

3. What are the precautions to be taken by

people working in radiation labs ?

° View Text Solution

4. Distinguish between Nuclear fission and

nuclear fussion.

° View Text Solution

Additional Questions Answer Numerical Problems



https://dl.doubtnut.com/l/_PeEtUfaFSrD9
https://dl.doubtnut.com/l/_tM4nIjEc4XQN
https://dl.doubtnut.com/l/_CdG35dnpoFHv

1. Determine the energy produced in the fission
reaction  whose mass  difference s

3.251 x 10~ *8kg.

o Watch Video Solution

2.If 50 g was the loss in mass as a result of a
fissionable reaction, how much energy will have

been produced ?

o Watch Video Solution



https://dl.doubtnut.com/l/_CdG35dnpoFHv
https://dl.doubtnut.com/l/_qe8p0b7UX7Sz

3.If the loss in mass during a fission reaction is
0.20 g, how much energy will have been

produced ?

o Watch Video Solution

4.n the equation CH — -NM 4+ e which
decay of radioactive carbon-14 results in the

new nitrogen-14 atom ?

o View Text Solution



https://dl.doubtnut.com/l/_ElBaG6qFfjtw
https://dl.doubtnut.com/l/_skBVwxIanBNM
https://dl.doubtnut.com/l/_XaRM7ZO22pwz

5. If Gadolinium -150 undergoes through a-
decay what is the new atomic mass of the

resulting element ?

o View Text Solution

6. Balance the following reaction

6014 — _160 + ?

o View Text Solution



https://dl.doubtnut.com/l/_XaRM7ZO22pwz
https://dl.doubtnut.com/l/_HVZIn2wr3ad4

7. Which type of radiation requires thick layers

of concrete or lead in order to be stopped ?

o View Text Solution

8. Solve this equation for a-decay.

88RCL226 — Rn+..........

o View Text Solution



https://dl.doubtnut.com/l/_JnIVqlCawy2m
https://dl.doubtnut.com/l/_RIdHoDbV3VPr

9. Solve this equation for B-decay

270060 — Ni +

o View Text Solution

10. Which unit is a measure of an individual's

exposure to gamma radiation ?

° View Text Solution

11. Convert 1 Bq into curie.

| - |


https://dl.doubtnut.com/l/_PnbrjSsuh0wH
https://dl.doubtnut.com/l/_jr8EWXsMzxlS
https://dl.doubtnut.com/l/_QgNAQmnOxLMl

I O Watch Video Solution

12. Complete the fission reaction:

02U 4+ 0n! — 3357 + Xe + 3gnt

o View Text Solution

13. Complete the fission reaction:

92U235 -+ Onl — 43T6107 + In -+ 507?,1

° View Text Solution



https://dl.doubtnut.com/l/_QgNAQmnOxLMl
https://dl.doubtnut.com/l/_sjCEWcKa3MIn
https://dl.doubtnut.com/l/_045AX4tSnRql

Additional Questions Answer Higher Order

Thinking Skills Hots

1. Frequency is the most fundamental . Why is

heavy water used as a moderator ?

° View Text Solution

2. What is the essential difference between an

electron and a beta ray ?

° View Text Solution



https://dl.doubtnut.com/l/_iNH7ylK0AymJ
https://dl.doubtnut.com/l/_5XTRPMnMm7VU
https://dl.doubtnut.com/l/_TBs02PtuS97t

3. Can an electron be obtained (or come out )

from the nucleus ?

o View Text Solution

4. Why does a metal bar appear hotter than a
wooden bar at the same temperature ?
Equivalently it also appears cooler than
wooden bar if they are both colder than room

temperature .

o Watch Video Solution



https://dl.doubtnut.com/l/_TBs02PtuS97t
https://dl.doubtnut.com/l/_MD0KVB7FhCs0

5. Why do you mean be Q value of nuclear

reaction ?

° Watch Video Solution



https://dl.doubtnut.com/l/_2xm305dJUY7x

